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Physical Education
Paper 1I
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Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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1. Which of the following describes a | 1. 3mifis franices IS BEEm™ 90
physical benefit of physical

GTefieTdsht hIMd ol 3T 2
activity ?
(A) IR TR g&I
(A) Enhanced body shape

(B) framr=h g9«
(B) Understanding of rules

(C) Relieves stress and tension
(D) Develops friendships

Rousseau is referred to as father

of :

(A) Idealism
(B) Realism
(C) Pragmatism

(D) Naturalism

(C) dorIquTeq Hekddl

(D) T gfgra 2

w4 € I SH& oARd
(A) STERiEr
(B) ar&ddig
(C) HR_RE]

(D) frwfar
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Structured, organised, rule

governed forms of play is called :
(A) Play

(B) Sport

(C) Games

(D) Recreation

Social interaction among people is

called :

(A) Socialization process
(B) Social courtesy

(C) Social visits

(D) Social understanding

Which central Government agency
deals with enhancement of sports in

the country ?
(A) LNUPE
(B) MHRD
(C) SAI

(D) NSNIS
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(A) ANEM W@

(B) il

(C) B

(D) HARSH

SHHAMEIA TSR 3Taeh I WS

(A) QISR Yiha

(B) 9IS Fhawd

(C) gmifeles 9

(D) 9MIfSeh  HTHSE

QUMM shiel Hadamht FTEid T TR
SRS T e |

(A) TATHJHE.

(B) TH.UE.3R. Sl

(C) TH.T.AM.

(D) UA.TH.UA.3AI.TH.




The kidneys and urinary bladder are

components of this system :
(A) Endocrine

(B) Digestive

(C) Respiratory

(D) Excretory

Which of the following is not a

function of skeletal muscle ?
(A) Produce movement

(B) Maintain posture

(C) Maintain body temperature
(D) Maintain body balance

Muscle activity is entirely

dependant on :

(A) Supply of oxygen

(B) Nutritional inputs

(C) Environmental stimulations

(D) Nerve and blood supply
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qe o HARE B AT HEIH AN

e

(A) ferrtfagla Ueft deen

(B) T=EEeN

(C) o HEem

(D) ScosiA HEdq

qEIeTdehl IV 1 A &id
& ?

(A) @rerEre fAfHdr sH

(B) IRRERON feamfao
(C) YRR agee fesmfan
(D) IR qd |30

o [

= ToRd=) Rl FqUiqUT ger e
R

(A) JUEEAT G

(B) =1 =W

(C) SITdTeRoid Hole T

(D) JdrEAE o R GREal
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10.

11.

Exercise related stress fracture

occurs in bones :

(A) In the spinal column
(B) Below the knee

(C) In the arm

(D) In the neck

Excess potassium ion is eliminated

from the body by :
(A) the kidneys
(B) sweating

(C) the liver

(D) the spleen

Anabolic steroids used by women
athletes to boost performance results
in :

(A) Muscle arthropathy

(B) Migraine

(C) Reproductive malfunctioning

(D) Increase of male hormone

10.

11.
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(Afgrem) 39 T :

(A) WIS M

(B) TS=ATEAl

(C) gAY

(D) AFAE

IR AT R 3T &

~c

ScHI

d el SAId
(A) TS
(B) =™

(C) FPpd
(D) T

HRIAM arefauarEe dfee Yergshed

N o €

ST AU SATelforeh RUSSHD
Ted

(A) &Y 3R &M

(B) eTeifsredt

(C) TR w1 fommes

(D) IT9 FIRHMH e




12.

13.

14.

Power sport-athletes generally make

use of diuretics in order to :
(A) Increase supply of blood
(B) Increase muscle strength
(C) Bring down tension

(D) Lose body weight

Hyperextension occurs when the

extension is beyond :
(A) 60°
(B) 90°
(C) 180°
(D) 120°

Bio-mechanics can also be a

legitimate branch of :
(A) Kinesiology
(B) Mechanics
(C) Movement science

(D) Physics

12.

13.

14.
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KTl Wil Teolg, SRRl arR

IR A
(A) TS drefaa
(B) € dIhe arefool

(C) dT91 HHT HLO

(D) aSF HHT O

BT TaSNH HEY TS RIIaT S

qd

(A) 60°
(B) 90°
(C) 180°

(D) 120°

St fsent wmes &1 a1 fosEr=tgs
FHEGI IME AR

(A) TS
(B) Hahf1ed
(C) SleTdre JMEA

(D) ifqereme
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15.

16.

17.

Angular motion is not represented

by :
(A) The knees of a cyclist
(B) The legs of a runner
(C)

The arms of a swimmer

(D) Body of a diver entering in the

water

Newton’s second law of motion is

called :

(A) Law of inertia

(B) Law of acceleration

(C) Law of gravity

(D) Law of action and reaction

School of psychology most closely

related to learning theory is :
(A) Gestalt school

(B) Cognitive school

(C) Behaviourist school

(D) Psychoanalytic school

15.

16.

17.
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JEeTden! SHIMHE i1 Tl qifoet sd
AT ?

(A) SEH@Id TEH
(B) «E9e U™
(C) ST&urged dg

(D) TUId Fol ShIdET G HROM=r
IR

T oo gH=al aHTer STEE
REICRICEE
(A) S 74

(B) o= fom

(C) Tecahsurer a9

(D) fowan-wfafea=n f7om

T SUTINN STl Fod THM

AFEETEE 99 8 ST :
(A) SR 99

(B) diumcHe q9

(C) od-arE 9y

(D) ARG 99




18.

19.

In order to reduce his anxiety, a high
jumper practises walking through
his run-up in preparation of his
jump. What is this strategy

called ?

(A) Goal setting

(B) Attention skill

(C) Extrinsic motivation

(D) Social reinforcement

Improvement in concentration and
control of emotional response are

results of :

(A) Coping strategy

(B) Desensitizing strategy

(C) Mental imagery

(D) Covert modeling

18.

19.
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20. During a physical education lesson,

21.

instructional interval should not

exceed :

(A) one minute

(B) three minutes

(C) two minutes

(D) five minutes

Stages in curriculum design process

are development, implementation

and :

(A) Assessment

(B) Examination

(C) Orientation

(D) Training

20. IMRE  foreror

21.
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qeld Yisgeh

AR HIAEH] LT S 3T
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(A) T faffe

(B) = i

(C) 3 fafte

(D) 9= fafe

Ay fAfddt gfed s fawmg,

(A) aiRero

(B) 9dam

(C) 3genEd
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22. In teaching a closed skill, a teacher

23.

initially should provide :

(A) A stable environment with

varying rates of skill

performance

(B) A stable environment with a

stable rate of skill performance

(C) A varying environment with

varying rates of skill

performance

(D) A varying environment with a

stable rate of skill performance

The second part in teaching a new

skill consists of :
(A) Instructing
(B) Demonstrating
(C) Applying

(D) Assessing
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22. g hETeH Rehfaar, ™ grard=n

FAA T T :

(A) TeeR ITameERw 9 THHH IV

HEHE  TTdes!

(B) TR Irdreru 9 HM hivied hR—IHM

RIGE]

(C) AfeR IIdERT 9 FAHAM HIVH

HEUHE Tl

(D) AT IIAEOT o HHH HIvH

HEUHE  TTdes!

23. &M Iy Refavart gEd TR &

AR

(A) 3T
(B) Wrcafareh
(C) 3wEsH

(D) afkero
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24. ALT stands for : 24. TUA. WIS
(A) Achievement learning time (A) sifusede afHn 2EH
(B) Application learning time (B) AfcehyH AT 2EgH

(C) Affective learning time

(C) 3Thfess AT ==Y

(D) Academic learning time D) st o iy

25. Parameter that determines whether

25. Il STRTIRET 3118 foharn Al & Aoy

a person is healthy or not :

Hdh
(A) Spiritual (A) e
(B) Social (B) TmIfS®
(C) Genetic ©) m
(D) Cultural D) W

26. Animal fat is not found in : 26. qAAIUh AHES WA =S @
- 7-|'I'€'ff :

(A) Milk

(A) 7
(B) Almonds

(B) &M
(C) Egg (C) &g
(D) Meat (D) =™

10
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27. An obese man has a fat percentage | 27. T 1117&11:[%:& T YU Sdeh
of : I :
(A) 15% to 17% (A) 15% d 17%
(B) 12% to 14% (B) 12% d 14%
(C) above 22% (C) 22% & S
(D) above 25% (D) 25% Uem S
28. ELISA test is used to detect : 28. ferE % A FART HTUATHIE! ATRUA
Id
(A) Lung infection
(A) BFRY g
(B) Viral infection
(B) foremy grgufa
(C) HIV infection
(C) TH.AA.H. WgHia
(D) Urinary infection D) T g
29. Skeletal 1 i h ~
9. Skeletal muscle contraction that 00 ST TTSYE ETEREUI ﬂﬁ%TF!T{
results in an increased energy .
HAHITH & FUE -
expenditure is called :
(A) IR T
(A) Physical education
(B) Exercise B)
(C) Physical activity (C) wmifisr fepameteran
(D) Muscular contraction (D) ¥ Aepad
11 [P.T.O.



30. Which of the following best

31.

demonstrates the principle of

progressive overload ?

(A) Heart rate is between 70 to 85%

zone during each session

(B) Gradually increasing the

weight and number of

repetitions

(C) Participating in a variety of

activities
(D)

Scheduling 12 training sessions

each week

Two main principles of muscle

strength and endurance

conditioning :

(A) Progression and overload

(B) Variable resistance and
overload

(C) Frequency and progression

(D) Intensity and retention
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31.

e ?

(A) 70 T 8% &F@ Ta

(B) oS 9 A 9&Id GG

(C) fafay IusmH@ F8um

(D) Y&k ASTSdd 12 Ui 9

T ehe o THERUUT HERTOTE! S
YHE dcd IOl ?
(A) waeiierar o AR

(B) AfteR iy 9 AfYYR

(C) IRaRal 9 YAl

(D) il 9 TORTERT
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32. Which of the following demonstrates

the importance of agility ?

(A) Ability to get a quick start and

leave the opposition behind

(B) Ability to dodge opponents and

get free

(C) Ability to increase the range of

movements possible

(D) Ability to move two or more

body parts together
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32. foenfyed™ e Y@l HemHed

SRiferetel 3T ?

(A) Ve YRY Sed faleesmr qm

TR &THAT

~

(B) foierarren gotahraoil <A Hichos

B0 &Tea

(C) FieAer geTard faer anefa

D) Tw fear sifus sduw=m wm

[N

Teh{AqIUl BTl

33. Akind of independent variable that | g3 w5 wert SemEr fE=or Qear 34 9@
cannot be manipulated is called T S U
as :
(A) Ferl =l (hMiRa)
(A) Categorical variable
(B) gl =«
(B) Dependent variable
(C) TnsrEt =
(C) Independent variable
(D) Intervening variable D) T it
13 [P.T.O.
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34. Limitations imposed by the | 34, weiivATen =<imed AeNYgSRN HA

researcher in the scope of the study

Sqoledl HIEl WUN ;

is called :

(A) =Tt
(A) Scope

(B) uffamn
(B) Delimitation
(C) Significance (C) #HEd
(D) Hypothesis (D) aReheqn

35. The larger group from where sample | 85. S SHEHEENA =Gy oe el S

is taken is known as : Y Y WU
(A) Population (A) SHE=T

(B) Sample (B) e

(C) Results (C) fer1a

(D) Distribution D) faao

36. The square of the standard deviation | g v fymemmr a1 = .

is called : ‘

(A) &SI Tt
(A) Central Tendency

(B) fogemsitera
(B) Variance

(C) faaxm
(C) Distribution

D) =«

(D) Variables

14



37.

38.

A measure of behaviour that
involves a subjective evaluation

based on check list of criteria :

(A) Likert scale

(B) Rating scale

(C) Z-scale

(D) Hull scale

Individuals expected to perform at

a specific level of achievement

in measurement is known
as :
(A) Criterion validity

(B) Norms-referenced measurement

(®);

Criterion-referenced measure-

ment

(D) Comprehensive measurement

37.

38.
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e ®
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(A) fase w=het

(B) &M &hd

(C) Fe-&hal

(D) TA @hd

A= fafyrse qrasier wrdHm

U] eIl HI9AE 378
TBOIdid
(A) 7w Sean

(B) AMh-Tey (AH-Iw=E) |

(C) frpu-dgyd (FrRRem IwER)

HIYA
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39.

40.

41.

A judgement conducted during

an instruction and training

programme :
(A) Summative evaluation
(B) Formative evaluation
(C) Continuous evaluation
(D) Instructive evaluation

The degree of inter-rater reliability

is known as :

(A) Objectivity

(B) Reliability

(C) Validity

(D) Administrability

Scott motor ability test does not

inlcude :

(A) Shuttle run

(B) Obstacle run

(C) Standing broad jump

(D) Basketball throw

39.

40.

41.
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sheledl IREU 3 WU
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(A) HHThICTh HeIHIA

(B) SehIeeh FHEIHIIA

(C) Haqul HerHTa
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U
(A) eSS
(B) fowerromn
(C) S
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42.

43.

44.

Goniometer is used to measure :
(A) Lung volume

(B) ROM

(C) Length of body parts

(D) Speed

A set of tasks that a physical
education teacher adheres to in the
beginning of the year for good

classroom management is :
(A) Establishing rules

(B) Posting rules

(C) Learning students name
(D) Record keeping system
Let is associated with :

(A) Hockey

(B) Badminton

(C) Volleyball

(D) Football

42.

43.

44.

FEBR — 71213/11

M 9 € Al S1d

(A) ®FRH Gehd
(B) 3TR.3.TH.

(C) SRR WNT= wfisil
(D) =7

T T fESEEET e s

Tereqor f3TeqeR =1 1 H=ITE STad Shidl

el 3 WU

(A) Fm yenfia &
(B) Traw wefvia =

(C) fomneAfsh 719 w8 &

(D) Aicolt Yomell darR ol

e B Ue O CaRl datyd TR
(A) T

(B) Efied

(C) =it

(D) ®dia
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45. ‘Power play’ is the term related
with :

(A) Hockey
(B) Football
(C) Cricket
(D) Tennis

46. Match List I with List IT and select
the correct answer from the codes

given below :

List I List 11

(a) Isometric exercise (i) Weight training
with dumbells

(b) Aerobic effort (ii) Brisk walking

(¢) Isotonic exercise (iii) Peddling on
ergobicycle

(d) Isokinetic exercise (iv) Pressing one’s
hand againt wall

Codes

(@) (b) (c) (d)
A @Gv) @) (t10) @)
B) G @) @) (i11)
© @ @ @) @)
D) @) () (i7) @)

FEB — 71213/1I1I
45, ‘IR ™' @ 9 A SRR Hefyd
e :

(A) Tt

(B) ®dia
(OREET
(D)

[N

46. I 1 URE AT I1 S 9 et

HISHEAR 3T I fomer .

Tt 1 et 11
(@) FEHIH @) o R giEm
iRl
) Wfss gad i) g =rer
() SAPHIAH SAEM (i) IMHERA O
Ted w0
AR IRRIEDREIEED () TR g <=
iRt <0
wE :

(a) b) (c) d)
(A)  Gv)  (@G@) (tit) @)
B) Gv) @) @) (i1i)
©) G @ @) @)
D) G () (@) @)




47. Which of the following is correctly

matched ?

(A) Contrast bath —  Reduce oedema and
restore range of motion

(B) Hot Pack —  Electromagnetic energy
used to elicit deep
penetrating thermal
effects

(C) Cryotherapy —  Reduction of swelling
without any medicine

(D) Paraffin bath —  Use of water whirlpools

to reduce swelling

48. (I) Curriculum is a field of
knowledge which is different
from the syllabus.

(I) A syllabus is only the outline
of the content to be taught and
does not include teaching

methods etc.
(A) (I) is correct but (II) is wrong
(B) Both (I) and (II) are correct
(C) (I) is wrong but (II) is correct

(D) Both (I) and (II) are wrong
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47. WAAUR! T SIS RO ?

(A) FIZ= =Y — g9 wH | 9 FerEd

foeR qdaa @

(B) ®le Yy — TR Sfiftere ftomy

IYUIES! ST
fogagasta 3=t

(C) Frha St g

FHIOTES] ST JOT
IR gl

(D) YUHA a1 — g9 wH HoEEet

48.

qrugTT ATl 9T

(I) UTSIHHTILT ATTes STHAA o AT

g frfed WUNl A%IEshH.

(II) 9rSIshH BUS e fTehdaed

SITOT=AT ST &AL STHA
L STEATI g Savid g
.

(A) ) SRR 90 1) <H
(B) I (D o A s{sR
(C) O IF 90 (1) R
D) I @O AW 1) IH
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49. Which of the following is correctly

matched ?

(A) Displacement

(B) Force

(C) Acceleration

(D) Motion

Extension of joint

beyond 180 degree

A pull, push or tendency

to distort
Circular movement of
an object
The circular motion of

a joint

50. Match List I with List IT and select

the correct answer from the codes

given below :

List I

(@) Femur

(b) Tibia

(¢) Cervical vertebra

(d) Humerus
Codes

(a)

(A) @)
B) (@)
© @)
D) @)

List II
(1) Trapeziums
(ii) Quadriceps

(i1i) Biceps

(iv) Gastrocnemius

(b)
(ii)
(ii1)
@)
@)

(c) (d)
(iv) @)
(i7) @)
(@) (i17)
@) (i11)
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49. Treftade! I SISt w2

(A) foreara —  180° &N Afyer WA
TR
(B) 51 —  3fed, sha fehen
foredtertor sear=ht
EER]
(C) R — & e BerEre
(D) T C wore g T
50. T I 9 Al 11 Sosen o foeiesn
RIS 3Tk I forar
et 1 et 10
(@) IR @ fufstsmn
) Tefomm i) FITGHH
() TAFHRA Sl i) AT
d) FH Gv) TEHHTE
wE
(@) (b) (c) (d)
A) @) G0 (iv) @
B) Gv) G (i1) @
© @) @ (v) @)
M @ (v @ €279)
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